
 

 

LIVERPOOL CITY REGION (LCR) LABOUR MARKET INFORMATION QUIZ 

 

1. How many people in the UK are employed on zero hours contracts? 
a) 500,000 b) 1m c) 2m  
2. What do the letters stand for in this equation E= (Q + S + WE) x C? 

                                                                                                                 O                               

3. How many different businesses are there in the LCR? 
a) 45, 261 b) 47,064 c) 49,125 
4. Which sector employs the most people in the LCR 
a) Human Health Activities  
b) Creative and Digital  
c) Professional and Business Services 
5. How many people work in the Visitor Economy in the LCR? 
a) 45,000 b) 52,000 c) 61,000 
6. Name 3 good reasons to go to university 

 

 

 

7. Name 3 good reasons to do an apprenticeship 

 

 

 

8. Name 3 places you can find job vacancies 

 

 

 

9. Name 3 activities that look good on an application form or CV 

 

 

 

10. Name 3 types of job interview you might have 

  


